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Note : Figures to the right indicate full marks of the question.

Q.1 Vidit Co. Lid. Produces three products A, B and C from the same type (15)
of raw materials. The supply of raw materials is the limiting factor
some details about the product are as follows.

Particulars : ARs. B Rs. CRs.
Annual maximum Production {Units) 4000 5000 3000
Selling Price per Unit Rs. 250 | Rs.200 | Rs. 300
P.V. Ratio 20% 25% 30%
Percentage of Raw materials in fotal

variable costs 42% 60% 60%

The annual fixed averheads of the fatory Rs. 150000 and annual
fixed administrative costs are Rs. 170000. The cost of one kilogram of
raw material is Rs. 6. The maximum supply available is 158000 kgs
per annum. '

Determine the optimum product mix for maximum profit and find
the estimated profit of the production mix so determined.

OR
Q.1 The cost per unit of three products A, B and C of X company is as (15)
follows :

Particulars ARs. BRs. CRs.
Direct Materials 10 8 9
Direct labour 6 7 6
Variable expenses 4 5 3
Fixed expenses 3 3 3
Total cost 23 23 21
Selling price 32 30 26
Profit 9 7 5

No. of Unit produced 1000 5000 8000

Production arrangement are such that is one product is given up, /

the production of their can be raised by 50%.

The director propose that product C should be given up because it
is less profitable,

As a management Accountant give your advise to the
management that which product should be dropped?
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Q.2 The production capacity of a company is 100000 units per annum. But (15)
company has been given license for 75% capacity only. But an option
has been given to the company by government that it will be allowed to
utilise full (100%) production and earn foreign exchange.
It costs at fuily capacity (100%) are as follows ;

Direct material - Rs. 4 per unit
Direct wage - Rs. 3 per unit
Variable Cost - Rs. 1 per unit

Fixed cost annually Rs. 200000

There is no estimate of any increase in material and labour. The
company has received an order from abroad for 20000 units, which if
accepted, will involve an additiona!l cost of shipping, packing and
commission etc of Rs. 0.80 per unit.

If the proposal is accepted, the company will get the raw materials
for export order at a concessional price is 30% less than current price.

As a cost accountant of the company, you are required to present
a report before the managing director in which you have to suggest the
export order selling price per unit of 20000 unit to obtain profit margin
available from sale in the local market at Rs. 12 per unit on the basis
of established 100% production capacity of the company.

OR
Q.2
(A) Explain the meaning of differential cost Analysis. Discuss its (08)
importance in detail.
(B) Distinguish between Differential cost Analysis and Marginal cost (07}
Analysis. '
Q.3 The balance sheet of Vrunda Ltd. as on 31-12-2015 and 31-12-2016 (15)
are given below. Prepare source and application of fund statement.
Liabilities 2015 2016 Assets 2015 2016
Rs. Rs. Rs. Rs.
Share capital 300000 400000 Fixed Assets (at Cost) = 800000 950000
Capital reserve - 10000 Less Depreciation 230000 290000
General reserve 170000 200000 570000 660000
Profit and Loss Alc 60000 75000  Investments 100000 80000
Debenture 200000 140000 Current Assets 280000 330000

Current liabilities - 120000 130000 Preliminary expenses 20000 10000
Provision for

Income Tax 80000 85000
Proposed dividend 30000 36000
Unpaid dividend - 4000 :
| 970000 1080000 | | 970000 1080000

During the year 2016 the company. )

(1) Sold one machine for Rs. 25000 the cost of which was Rs. 50000
and the depreciation provided of it was Rs. 21000.

(2) Provided Rs. 95000 as depreciation.

(3) Redeemed 30% of debentures at Rs. 103,
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(4} Sold some Trade investments at a profit which was credited to
capital reserve.

(5) Decided to value stock at cost whereas previously the practice
was to value stock at cost less 10%. The stock according to books
on 31-12-2015 was Rs. 54000. The stock on 31-12-2016 was
correctly valued at cost Rs. 75000.

(6) Write off fixed assets costing Rs. 14000 which is fully depreciated.

OR
Q.3 The following are the balance sheet of a limited. _
(A} Company as on 31-12-2015 and 31-12-2016 (07)
Liabilities 31-12-15 | 3112416 Assets 311215 | 311218
Share capital 1300000 | 1400000 | Freehold buildings - 800000 | 1176000
Generat Reserve 60000 40000 | Machinery and plant 144000 394000
Profit & Loss Afc 36000 38000 | Furniture 6000 5500
Sundry creditors 76000 112000 ! Cash 1560 1280
Bank Overdraft 69260 129780 | Sundry Debtors 125600 104400
Bills payable 40000 38000 | Bills Receivable 7600 6400
Proposed final dividend 78000 72000 | Stock 244000 238000
Loan on Mortgage - 560000 | Prepaid Expenses 4500 6200 |
Goodwill 240000 220000
Shares in other
companies 80000 234000
_| Preliminary expenses 6000 4000
1659260 | 2389780 1659260 | 2389780

From the above information, prepare schedule of changes in working

capital.
(B) Whatis fund flow statement. Prepare with imaginary figures and (08)
explain its importance.
Q.4 The following are the Balance sheet of Kavita Ltd. as on 31-12-2015 (15)
and 31-12-2016.
Liabilities 2015 2016 Assets 2015 2016
Rs. Rs. Rs. Rs.
Equity shares of Rs. 10 Land and Building 220000 | 225000
each 150000 | 300000 | Plant and machinery 150000 | 220000
General Reserve 150000 | 120000 | Investments 20000 35000
Profit & Loss Alc 50000 | 60000 | Stock 35600 45000
12% Convertibie Debentures Debtors 50000 42000
of Rs. 100 each 100600 | 50000 | Cash and Bank Balance | 20000 30500
Creditors 30000 | 20000 | Bills Receivables 25000 20000
Unpaid exps 5000 10000 ; Preliminary expenses 5000 2500
Provision for Taxation 25000 30000
Proposed dividend 15000 | 30000
525000 | 620000 525000 | 620000




Q.4

Additional information : During the year ending 31-12-2016

(1

The company issued Bonus shares to the existing equity share
holders by capitalizing the required sum from general Reserve in
the proportion of 3:2.

After issuing Bonus shares the company converted 500
convertible Debentures of 100 each in to 5000 equity shares of
Rs. 10.

Investments worth Rs. 10000 have been sold out at a profit of

Rs. 2000. ‘

Out of the plant and machinery one machine the book value of

Rs. 50000 has been sold out at a loss of Rs. 5000.

Depreciation written off-on land and building Rs. 20000 and plant
and machinery Rs. 25000.

Paid Rs. 20000 as tax for the last year and also paid the amount
of proposed dividend of the last year. Prepare cash flow
statement,

OR

(A) What is a cash flow statement? How does it differ from fund flow

(B)

statement explain.

Discuss the utility of cash flow statement.

(07)

(08)
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